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1. UERH: HIRERTTEL, G X Frit fIiEE A, e 2 e AT, B
e l=eal=bbl=aq,
Bl ICREG FEA LW B, EuEG &— M, AR &/, &
Hix,ye G, WERA:
e(xy) =x (ey) = x(ye) = xy, (xx) x=x(x%)
HIR, #x,y€ fa, b} Hx=y, NHIFER
XX=y,yy=X,Xy=yx=¢,
TRERERD(x)y=yy=x=xe=x(xy),
(xy)x=ex=xe=x(yx),
x(yy)=xx=y=ey=(xy)y,
MM EE GRS, G TER— N E.

2. 1, MR H4EEa,b,c A
(a®b) Bc=a®(bBc)=a+b+c-2,
BPR XL 45 G X o el a8 #ig, H1 2% o0, a Mot k2-a.
R X DIERUINEE.
M o
(a®b)®c=a® (b®c)=a+b+c-ab-ac-bc+abc,
a® (b®c)=(a®b) & (a®c)=2a+b+c-1-ab-ac,
[FlH(aPb) ®c= (a®c) ® (b®c). MR XD , IEHIE.
X oH, JEH R KIZFI6 0 R H AT

3. W G b 2R p. G KA TTRIIM AT LKL p 8k, & a & G HfE—
JeE, M a Wk 18 p. #lal Ak 1, Wal =p. FHitka, a2 a3, ..., ar 138 G H
JtER. B G={1,a,a? a3 ..., ar1}, Bl G &1EIHHE.



4. UERA: W (p) 2 Z M BAR, 37 p A2 3L, MIAFAE ab,ffif5 p = ab, 1<a<p, 1<b<p.
T ab =pe (p), HT(p)EFEAE, N ac (p)k be (p), Bl pla 87 plb, Xz
ANTTRERT, R p AR AL

2, #ipre—%%, H abe(p), W plab, {H:E p &%&%l, Kk pla 8% p|b,
Bl a€ (p)aki# be (p), Hit(p)e R,

5. UERA: KON N & G I IE#L 78, IR #EG /N & m B %) G FYEE ot R af -
a=aNi#/e: a™ =e (e & G/N AT, BIBOLEAG/NZ m B #E), el
G | G/N I HAREZ, We(a™) = a™ = p(a)™ = a™ = e,lIFa™ € ker(¢p) = N.

6. UEAA:
W P2 R WEHA, Hab=0,a,beR/P, MNab e P (abJ& T HAFZ R -

R/P % P). RN P 2R, KiktHab e PR[1E, aePHE beP, NI
a=0 b =0. FILI R/P LEFHT.
RZ, %R/ PLEEHNT,#rab € P,Mab = 0. R/ PLEERT, Ma = 08b =0,

Bla € PE#E b e P, KL P AR KEFHAE,



